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SECTION A
(This section comprises of Multiple-choice questions (MCQ) of 1 mark each.)
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SECTION B
(This section comprises of very short answer type-questions (VSA) of 2 marks each.)
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SECTION C
 (This section comprises of short answer type questions (SA) of 3 marks each)
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SECTION D
(This section comprises of long answer-type questions (LA) of 5 marks each)     
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Two men either side of a temple of 30m high observe its top at the angles of elevation  𝛼 𝑎𝑛𝑑 𝛽 
respectively. The distance between the two men is 40  and the distance between the first person A the 3
temple is 30 m.3

(i) < 𝐶𝐴𝐵 =  𝑎 𝑡ℎ𝑒𝑛 

                    
𝑎) 𝑠𝑖𝑛 ‒ 1 

2
3 𝑎) 𝑠𝑖𝑛 ‒ 1 

1
2 𝑎) 𝑠𝑖𝑛 ‒ 1 2

𝑎) 𝑠𝑖𝑛 ‒ 1 
3

2
(ii) < 𝐶𝐴𝐵 =  𝑎 𝑡ℎ𝑒𝑛 

                    
𝑎) 𝑐𝑜𝑠 ‒ 1 

2
3 𝑎) 𝑐𝑜𝑠 ‒ 1 

1
2 𝑎) 𝑐𝑜𝑠 ‒ 1 2

𝑎) 𝑐𝑜𝑠 ‒ 1 
3

2

(iii) s< 𝐴𝐵𝐶 =  

                  
𝑎) 

𝜋
4

𝑎) 
𝜋
2

𝑎) 
𝜋
6

𝑎) 
𝜋
3


